ADO#gEt R ERTIE)

SF6ESA1 IR

BITH% Hit 4 B&Et HEE
JIE Hh X /NG 983 1,038 2,021 938
I 0 0 0 0
JNE—TH 287 300 587 282
JNBE=TH 281 271 552 263
JIE=TH 218 221 439 207

g™ T B 185 203 388 151

HEEMA 12 43 55 35
R/ X /e 1,821 1,925 3,746 1,924
f/## 12 53 65 65
H/##—TH 342 377 719 361

H/#8=TH 509 505 1,014 514
H/#=TH 557 560 1,117 540
H/##HETH 401 430 831 444
P X /NET 201 224 425 238
H 201 224 425 238
MHBEE X /NG 4,262 4,424 8,686 4,200
#EAE5—TH 1,155 1,026 2,181 1,148
MBS "TH 1,441 1,533 2,974 1,355
#EAE=TH 1,378 1,524 2,902 1,380
#EASMNTH 288 341 629 317

SHT Hh X /NET 2,542 2,412 4,954 2,671

XHET—TH 1,149 1,059 2,208 1,203
*ET—TH 1,393 1,353 2,746 1,468
XET=TH 0 0 0 0
ko B R/ 3,243 3,024 6,267 3,120
&y E—TBH 635 635 1,270 654
¥ByE=TH 788 798 1,586 757

sy E=TH 388 356 744 372
HkoEMTAH 636 532 1,168 570
sy ERTH 796 703 1,499 767

ESNE = 481 455 936 450
EN—TH 104 112 216 101

EJN=-TH 377 343 720 349




ADO#gEt R ERTIE)

SF6ESA1 IR

BITH% Hit 4 B&Et HEE
ETREMR/NE 2,085 2,008 4,093 2,191
EXRFE—TH 1,092 1,089 2,181 1,100
EXRF=-TH 965 884 1,849 1,067
EXRFE=TH 28 35 63 24
FEH X /NG 1,632 1,628 3,260 1,610
FE—TH 746 748 1,494 802
PE-TH 270 296 566 267
PE=TH 616 584 1,200 541
Pt X /NET 1,840 1,858 3,698 1,674
Fh—TH 413 419 832 392
FHR=-TH 608 589 1,197 542
FHh=TH 536 566 1,102 509
PHEmTH 283 284 567 231
PImEMR /NG 2,144 2,107 4,251 1,872
FmxE—TH 671 642 1,313 636
FMEZTH 515 538 1,053 487
FME=TH 533 499 1,032 395
PmEMTH 425 428 853 354
P X /NGt 1,479 1,330 2,809 1,207
FE—TH 700 627 1,327 585
FE_TH 388 337 725 319
FE=TH 391 366 757 303
WERTHE X /M ET 1,451 1,408 2,859 1,265
WERT—TH 59 45 104 51
MERTZTH 1,002 973 1,975 848
NER=TH 390 390 780 366
IMEB X /NET 3,226 2,911 6,137 3,344
IMEE—TEH 455 417 872 523
IMEEZTH 795 627 1,422 852
IMEE=TH 682 635 1,317 680
IMEETTH 458 437 895 459
IMEERTH 836 795 1,631 830

=&t 27,390 26,752 54,142 26,704




